STEERING COLUMNS & ACCESSORIES

code description __%'//‘ga'fﬁ]?
(BF)
1A |CS-STR-COL490R R MOD.STEERING COLUMNS L490MM CHROMED ¥11,600
1B |CS-STR-COL490R+ R+ MOD.STEERING COLUMNS L490MM CHROMED Gm ¥12,300
1C |CS-STR-COL490R- R- MOD.STEERING COLUMNS L490MM CHROMED d@ ¥12,300
2A |CS-STR-COL420R R MOD. STEERING COLUMNS L420MM CHROMED ¥11,600
2B |CS-STR-COL420R+ R+ MOD. STEERING COLUMNS L420MM CHROMED m ¥12.300
2C |CS-STR-COL420R- R~ MOD. STEERING COLUMNS L420MM CHROMED % ¥12 300
3 |CS-STR-COL342 STEERING COLUMNS L342MM CHROMED ¥710,500
4 |KIT-STR-RNFBSH STEERING COLUMN REINFORCEMENT BUSH ¥560
5 |KIT-VT-BJO8SRD RADIAL UNIBALL 08 ¥2200
6 |KIT-VT-SG23 SEEGER 023.5MM ¥120
7 |KIT-CS-STR-COLBSH STEERING LOCKING COLUMN BUSH TITAN GOLD ANODIZED ¥640
8 |STR-COLSUP2H STEERING COLUMN SUPPORT 2 HOLES ¥1,400
9 KIT-VT-BJO8RGH RIGHT UNIBALL M8 ¥2 200
10 |KIT-VT-BJOSLFT LEFT UNIBALL M8 ¥2200
11A |STR-TRD270 TIE ROD L270MM TITAN GOLD ANODIZED (DRAGON) ¥4,100
11B |STR-TRD260 TIE ROD L260MM TITAN GOLD ANODIZED (FIGHTER) ¥4,100
12 |STR-TRD210 TIE ROD L210MM TITAN GOLD ANODIZED (MONSTER) ¥4,100
13 |STR-TRD220 TIE ROD L220MM TITAN GOLD ANODIZED (BABY) ¥4,100
14 |STR-TRD270-BL2 TIE ROD L270MM BLACK LINE T2 ¥4,100
15 |KIT-VT-SC0850SH SCREW COUNTERSUNK HEAD M8x50MM ¥100
16 |KIT-VT-WS0822CH WASHER COUNTERSUNK 08x22MM TITAN GOLD ANODIZED ¥220
17 |KIT-VT-SP0713 SPACER 08.5x013xH7.5MM ¥40
18 |KIT-VT-WS0816 WASHER 08x16MM ¥70
19 |KIT-VT-NTO8SH NUT SELFLOCK HIGH M8 ¥80
20 |KIT-VT-SC0625SH SCREW COUNTERSUNK HEAD M6x25MM ¥100
20A |KIT-VT-SC0630SH SCREW COUNTERSUNK HEAD M6x30MM ¥100
21 |KIT-VT-WS0620CH WASHER COUNTERSUNK 06x20MM TITAN GOLD ANODIZED ¥220
22 |KIT-VT-WS0612 WASHER 06x12MM ¥70
23 |KIT-VT-NTO06SL NUT SELFLOCK LOW M6 ¥80
24 |KIT-VT-SC0635CH SCREW CYLINDRICAL HEAD M6x35MM ¥100

2022 IPK ACCESSORIES / REV.001




